




GuideTo Assembly Model:Q5281



Q5281





H5106

H1712

H1511

Insert after
aligning the
locating pins



H1130

H1511

H5106



GY5281HW Maintenance Hardware List

GY5281HW Repair Panel List
B01-1*1  Table top (convex)

GY5322*1  Table legs

B03*1  Connection board

Internal and external nut
(with collar) M8 * 18

H1319

30PCS

White ground nail

H2502

12PCS
Shim M8 * 18

H1511

30PCS

Flat headed hexagonal
screw M8 * 35

H1130

22PCS

L-shaped external hexagonal
wrench 5#

H5106

1PCS

Flat headed hexagonal screw
M8 * 60

H1712

8PCS

B03

B03

GY5322

GY5322

B02

B02

B01-2*1  Table top (concave)

B02*2  Support tube

3PCS

Positioning pin

HG1003




	GY5281-餐桌-2米英文安装图(2)
	GY5281-餐桌-安装图 Model (1)
	GY5281-餐桌-2米英文安装图(2)

